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aH_ —
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" Al (m®/m) | & f+ (¥ arvy)—F (m*/m)
% FR —— avyy—+k ——
&% &t X $h (m?/m) &% &t X $h
(| 2wmE 86. 113 90. 856
SUERA TS U — 22.934
BTa s y—Fh 8.923 11.931
& 5 86.113 90. 856 22,934 8.923 11.931

1-3-84



=
g \
S. L { }
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fi_ \ \j I
L,
L
EP IR
________________________________________ .

R, = 6.560, R, = 4.340, R; = 8.680

BIJE t, = 0.400, RAHE t, = 0.150

a, = 11.2945306, «; = 596575078, «. = 30.3424922

h, = 1.700, 4% t= 0.200

L. =R, - R; = 6.50 - 4.340 = 2.220
L, =L, X Sin a; = 2.220 X Sin 59.6575078 = 1.915907
L, =(R; - R, )-L,=1( 8680—- 4.340 ) — 1.915907 = 2.424093
h; =L, X Cos a; = 2.220 X Cos 59.6575078 = 1.121473
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1. 121473

50. 487216

12. 663284

1) #& HI
(1) F%EtWrm
a. FEBEmrm
//,/:j:r:j——’—'
~
//
///
72 /
/// A
Z~ \~
0 //
/ &
/1 »
[ |
| 1 —~ S. L
,s:‘\
L,
________________________________________ R
R, = 6.560, R, = 4.340, ZZTJ& t, = 0.400
PR E t, = 0.000, "R&E t, = 0.150
as; = b9.6575078, «. = 30.3424922
ELTEL Y L, = 1.915907, h;,
r1:R1+to+t1+t2
= 6.560 + 0.400 + 0.000 + 0.150
I'z:Rz‘l'to‘l'tl‘l'tz
= 4.340 + 0.400 + 0.000 + 0. 150
Va-1=( 7 X r,* X a3 /360" —-1/2 X L, Xhy; ) X 2
= (n X 7.110° X 596575078 / 360°
- 1/2 X 1.915907 X 1.121473 ) X 2
Va2 =71 X r,> X a, / 360" X 2
= 1 X 4.890° X 30.3424922 / 360° X 2
Va = Va1 + Va2 = 50.487216 + 12.663284

63. 150500
63.151 m’ /m
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L
L
r-——™—™""""""Ff"" ™ """™—"™"—"#™ FF"—"—"FF"F—/mDH—//1 ™DHT/—"=D/{ 7777/ 77/ 77—/ 7/ —— 7

R, = 4.340, R, = 8.680, BI1/E t, = 0.400, h, = 1.700
BEmE t, = 0.000, R{&FE t, = 0.150
EoLEL Y L, = 2.424093

rs =Rs; + to + t; + t.
8.680 + 0.400 + 0.000 + 0.150

L, =Vr:*- h,* - L, 2/ 9.230* - 1.700° - 2.424093 = 6.648002

9. 230

, .. h, 1,700 .
a, = Sin = Sin'! ———— = 10. 6134458
T3 9.230
_______________________________________ —
Vb_l = T X r32>< al’ / 3600 - 1/2 X ( L3 + L4 ) X h1
= 1 X 9.230° X 10.6134458 / 360°
- 1/2 X ( 2.424093 + 6.648002 ) X 1.700 = 0.179268
Vb—2 = L, X h, = 6.648002 X 1.700 = 11.301603
Vb = ( Vb1 + Vb2 ) X 2
= ( 0.179268 + 11.301603 ) X 2 = 22.961742

22.962 m’ /m
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1. 121473

53. 490095

13. 720318

(2)  HAWrim
a. FEEWrmE
/////:::’—-
~
7
720
s
v,/ C
A
Q ///
// o X
/]
I = !
1 —~ S. L
,s:‘\

L,
_______________________________________ 1
R, = 6.560, R, = 4.340, BIT/= t, = 0.400
PR E t, = 0.000, "R&E t, = 0.150
4t = 0.200
s = 5976575078, «. = 3073424922
REOLSTIE LD L., = 1.915907, h,

T, =R, + t, + t; + t, + t
= 6.560 + 0.400 + 0.000 + 0.150 + 0.200
ro = R, + to + t;, + t, + t
= 4.340 + 0.400 + 0.000 + 0.150 + 0.200
_______________________________________ |
Vsa_l = ( 7T X 1‘12 X 3 / 360o - 1/2 X Lz ><h3 > X 2
= (7 X 7.310° X 5976575078 / 360°
- 1/2 X 1.915907 X 1.121473 ) X 2
Vsa—2 = © X 1% X a, / 360° X 2
= 7 X 5.090> X 3073424922 / 360° X 2
Vsa = Vsa-1 + Vsa-2 = 53.490095 + 13.720318
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b. T
/I
////
| %,
L] _ S. L _
-
— ° ~ T 3
< L ﬁ 3 R
L,
L,
________________________________________ 1
R, = 4.340, R, = 8.680, BT/ t, = 0.400 :
BIEAHEt, = 0.000, WfHEt, = 0.150 |
&Pt = 0.200, h, = 1.700 :
RELSHE LD L, = 2.424093 |
|
r3:R3+to+t1+tz+t :
= 8.680 + 0.400 + 0.000 + 0.150 + 0.200 = 9.430 :
|
L., =Jr:> - h* - L, =/ 9.430*> - 1.700° - 2.424093 = 6.851407 :
, . hy o 1. 700 ) |
a.’ = Sin' = Sin! — = 1073858199
s 9. 430 |
]
Vsb-1 =7 X rs?2 X o /360 -1/2 X (L, + L, ) X h,
= 7 X 9.430> X 1073858199 / 360°
- 1/2 X ( 2.424093 + 6.851407 ) X 1.700 = 0.175389
Vsb-2 = L, X h, = 6.851407 X 1.700 = 11.647392
Vsb = ( Vsb-1 + Vsb-2 ) X 2
= ( 0.175389 + 11.647392 ) X 2 = 23.645562

23.646 m® /m




2)

a .

R, =

WiHTF=2 27 ) — R
R W

6.560, R, = 4.340, T/ t, = 0.400

PR E t, = 0.000, "R&E t, = 0.150

a3 =

59.6575078, «, = 303424922

=R, + to + t, 6.560 + 0.400 + 0.000
=R, + to + t; = 4.340 + 0.400 + 0.000

X ri X as /3600 X 2

X 6.960 X 5976575078 / 360" X 2
=27 X 1r, X a, / 360" X 2

X 4.740 X 30.3424922 / 360" X 2

= Fal + Fa2 = 14.493781 + 5.020384

1-3-90

1
|
|
[
[
|
|

6. 960 I
4. 740 |
|

14. 493781

5. 020384

19. 514165

19.514 m* /m




b NHRHEEr

R, = 4.340, R, = 8.680, ZTJ/E t, = 0.400, h, = 1.700
TS t, = 0.000, R&E t, = 0.150

rs = R; + to + t, = 8680 + 0.400 + 0.000 = 9.080
, . h, 1700 )
a: = Sin? = Sin' — = 10. 7908632
T3 9. 080
_______________________________________ |
Fb =27n X r; X «a, / 360° X 2
=2x X 9.080 X 107908632 / 360° X 2 = 3.420183
= 3.420 m* /m
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a7 J—|

X BT

BlLar 7 )—Fh
. " - Y3
< 3 3 R
Ly
Ls
6.560, R, = 4.340, R; = 8.680
EBTJE t, = 0.400, h, = 1.700
as = 5976575078, a4 = 3073424922

=R, + t, = 6.560 + 0.400 = 6.960
= R, + t, = 4.340 + 0.400 = 4.740
= R; + t, = 8.680 + 0.400 = 9.080
=JR:* - h,? Z\/ 8.680* — 1.700° = 8.511898
=/Jr;® - h,’ Z\/ 9. 080> - 1.700° = 8.919439

. h, 1,700 )
= Sin™ = Sin® = 11:2945306

R; 8. 680

. h, . 1. 700 )

= Sin™ = Sin" = 10. 7908632
I 9. 080

3)
(1)
R1:

I

Irs

L,

a .
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V.

VCI

aX(r,” = R,” ) X as; /360" X 2

X ( 6.960° - 6.560° ) X 5976575078 / 360" X 2

ﬂX(rzz_Rzz) X a4/3600 X 2

X ( 4.740° - 4.340° ) X 3073424922 / 360° X 2

v, + v, = b.630917 + 1.923421

T X ri® X a, / 360°

7 X 9.080° X 10.7908632 / 360°

1/2 Xh, XL; =1/2 X 1.700 X 8.919439
7 X Ri*X a, / 360°

r X 8.680° X 11.2945306 / 360°

1/2 Xh, XL, =1/2 X 1.700 X 8.511898

U1+U2_(03+U4)
7.763816 + 7.581523 - ( 7.426001 + 7.235113 )

V. + V, X 2= 7.554338 + 0.684225 X 2
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. 630917

. 923421

. 554338

7.763816
7.581523

7.426001

7.235113

. 684225

8.922788
8.923 m® /m




(2)  ><HLWrim

a. mlLaryr7J—h

S. L _
<
L,
I EEEE————
R, = 6.560, R, = 4.340, R, = 8.680
BITE t, = 0.400, h, = 1.700
A t=0.130
a, = 11.2945306, «: = 596575078, a. = 3073424922
r. =R, + t, + t = 6.560 + 0.400 + 0.130 = 7.090
r+ =R, + to + t = 4.340 + 0.400 + 0. 130 = 4.870
rs, =R, + t, + t = 8.680 + 0.400 + 0. 130 = 9.210
L. =Jr:% - h,? =/ 9.210> - 1.700 = 9.051746
; ~ h, o 1.700 )
a,’ = Sin' = Sin! — = 1076367617
rs 9.210
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VSZ

VCSI

aX(r,” = R,” ) X as; /360" X 2

7 X ( 7.090° - 6.560° ) X 5976575078 / 360° X 2

ﬂX(rzz_Rzz) X a4/3600 X 2

7 X ( 4.870° - 4.340° ) X 303424922 / 360° X 2

Lsi T Vs = 7.532706 + 2.585021

7T X rgz X al’ /3600
T X 9.210° X 106367617 / 360°
1/2 Xh, X L, =1/2 X 1.700 X 9.051746

REtlm, BTLar 27 U — MUBET v, ~ v,

Usi T Vs — Uss
7.873649 + 7.693984 - 14.661114

= Vg + Vg X 2=10.117727 + 0.906519 X 2
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10.

. 532706

. 585021

117727

7.873649
7.693984

14.

11.
11.

661114

. 906519

930765
931 m* /m




r———"""F"""""F"">"""""F>""""F"F"""F"""""F""""" """\ "\ """ """ /7”7 ‘|
: R, = 6.560, R, = 4.340, R, = 8.680 :
| BTJE t, =0.400, h, = 1.700, BIMFERIER t, = 0.000 |
: a, = 1172945306, o, = 596575078, «. = 3073424922 I
| |
I r., =R, +(Ct,/2)= 6.560+ (0000 /2) = 6.560 :
| r. =R, +(t, /2)= 4.340 + ( 0.000 / 2) = 4.340 |
: rs =R, +(Ct, /2)= 8680+ (0.00 /2) = 8.680 :
| S h, _ g 1. 700 . |
| o in in s 1. 2945306

| T 8. 680 :
| |
: Vo = BEEOB LI 27U —RLEDY = 8.922788 :
| Ve = XHWHoOBETa 27 —FXY = 11. 930765 |
S _
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< BB >

Wil = (27 X R, X as /360" + 272 X R, X a, / 360
+ 27 X Ry X a, /360" ) X 2
= (27 X 6.560 X 5976575078 / 360°
+ 27 X 4.340 X 3003424922 / 360°
+ 27 X 8.680 X 1172945306 / 360° ) X 2 = 21.679649
= 21.680 m* /m
FR = Ve - (272 X 1, X as /360 +27x X 1, X a, / 360°

G&ip) +27 X ry X a, /3600 ) X t, X 2

8.922788 - (27 X 6.560 X 5976575078 / 360°

+ 271 X 4.340 X 3073424922 / 360°

+ 27 X 8.680 X 1172945306 / 360° ) X 0.000 X 2 = 8.922788

8.923 m* /» P

FW = Ve - (27 X 1, X ay /360 +27 X 1y, X a, / 360°
(3ZHh) + 27 X 1y X a /3607 ) X t, X 2
= 11.930765 - (27 X 6.560 X 596575078 / 360°

+ 27 X 4.340 X 30.3424922 / 360°
+ 27 X 8.680 X 11.2945306 / 360° ) X 0.000 X 2

11. 930765
11.931 m* /7 fAr
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31
S
-

R, = 6.560, R, = 4.340, BBTJ=Z t, = 0.400
BISmE () t, = 0.000, REAFFE(2K) t5 = 0.100
as = 5976575078, «. = 3073424922, S = 457000

ri =R+ to + t, + t;
= 6.560 + 0.400 + 0.000 + 0.100 = 7.060

FE¥ =272 Xr, X S /360" X 2
=2x X 7.060 X 45.000 / 360° X 2 = 11. 089822
= 11.090 m*,/m
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A= 22.818 mi/m

N ZE B E E

EREPL Rl
FEEEFRD
1119 |

A= 19.642 m/m




EREPD__boRILFD

FEREEFFD
gsRwftars)—+r 1119
t=150 18-10-15N \ 38
#BEEOY IR+
L=4000 x 104
R N
l\g
(1) Rff=ar 27 V—F, &4
A= 22.818 m/f&T
A= 22.818 X 2= 45.636 m
2) ayZ7Hn b
N= 10 A&/fE#r
N = 10.000 X 2 = 20 A
(B3) BTarr7U—F
V= 19.642 X 0.400 = 7.857 m/fEFT

7.857 X 4 = 31. 428 m3

V:
(4) B B
A= 19.642 ni/f&T

A= 19.642 X 4 = 78.568 nf
(5) BiAKIL
A= 22.818 ni/fEfT
A= 22.818 X 2 = 45.636 nf
(6) %L

A= 19.642 ¥ni/fEAT

A= 19.642 X 4 = 78.568 m
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1-4-2. JEK TR RIER 3 KL OVE T

cPEKTHER L= 1268.000 m
Py L HRPEKT (m) | AR T (T
WA i sy = k| g [FEIEA e [ ok | e
DF L HY ML FY
No. 10+ 1.00~ 10+ 1.70] i [ AV 0. 700 - 0. 700
No. 10+ 1.70~ 11 + 8.00| DIla-S | &Y 26.300|  26. 300 26. 300 2% FIT
No. 11+ 800~ 13+ 12.00/ DI-b-S| AV 44.000|  44. 000 44. 000 NG
No. 13+ 12.00~ 14 + 16.00] DI-b | &Y 24.000|  24.000 24. 000
No. 14 + 16.00~ 17 + 10.00] CII-b | #EL 54.000| 54.000] 54.000 L&A
No. 17 + 10.00~ 21 + 8.00] DI-b | &Y 78.000|  78.000 78. 000 21%
No. 21+ 800~ 22+ 840 CII-b | fEL 20.400| 20.400| 20. 400
No. 22 + 840~ 24+ 890 CI 4L 40. 500  40.500[ 40.500 L{&
No. 24+ 890~ 25+ 9.30 CII-b | fEL 20.400| 20.400| 20. 400
No. 25+ 9.30~ 26+ 9.30] DI-b | &Y 20. 000[  20. 000 20. 000 L& AT
No. 26+ 9.30~ 27+ 9.70] co-b | #EL 20.400| 20.400| 20. 400
No. 27+ 9.70~ 30+ 12.70] CI ML 63.000| 63.000] 63.000 2f& HIr
No. 30+ 12.70~ 38 + 0.30] CH-b | #1L | 147.600| 147.600| 147.600 ST
No. 38+ 0.30~ 39+ 7.40| CI-L | %L 27.100| 27.100] 27.100
No. 39+ 7.40~ 41 + 17.80] CII-b | #EL 50.400|  50.400| 50. 400 285 7
No. 41 + 17.80 ~ 43 + 4.90 CI-L | fEL 27.100| 27.100] 27.100
No. 43 + 4.90~ 48 + 0.90] CIO-b | fEL 96. 000|  96.000] 96. 000 21 Fr
No. 48+ 0.90~ 49+ 0.90] DI-b | &Y 20.000|  20. 000 20. 000 L&A
No. 49 + 0.90~ 53 + 18.10] Ccl-b | fEL 97.200| 97.200] 97.200 21& AT
No. 53 + 18.10~ 61 + 18.60] CI ML | 160.500 160.500[ 160.500 STEHT
No. 61 + 18.60~ 66 + 14.60] CO-b | MEL 96. 000|  96.000] 96. 000 2% 7T
No. 66 + 14.60 ~ 67 + 14.60] DI-b | AV 20.000|  20. 000 20. 000
No. 67 + 14.60~ 70 + 11.00] CcO-b | fEL 56.400| 56.400| 56.400 L {5
No. 70 + 11.00~ 72 + 14.00] DI-b | AV 43.000| 43.000 43. 000 L&A
No. 72 + 14.00~ 73 + 8.50] DIla | &Y 14.500( 14. 500 14. 500 L& AT
No. 73+ 850~ 73+ 9.00 i [ AV 0. 500 - 0. 500
P 1966. go| 977- 000/ 291. 000] 19T 449%%@&
1268. 000 28 1% AT




1-4-3. Pk TR E
) Emdek T

- BRI R
L = 1266. 800 = 1266.800 m

2) HRPEK TR

EIX Sy : C1 (f > /R— MEL) = 264. 000 m
JEEIX Sy : CI-b (f > /R— MEL) = 658. 800 m
JEHIX Sy @ CII-L (A >/ — MEL) = 54.200 m
JEEIX Sy : D1-b (f > R—FED) = 205.000 m
PEHIX Sy © DI -b-S (f /"= FHD) = 44. 000 m
JEHIX 4y © DIla (f /"= FED) = 14. 500 m
JEHIX 4y © DIMa-S (f "=+ HD) = 26. 300 m
JEEIX Sy - HIMT (£ "—FED) = 1.200 m
HIX 7y - - = - m
HIX 7y @ - - = - m
HIX 7y @ - - = - m
HIX 7y @ - - = - m
HIX Sy @ - - = —m
& 3 1268. 000 m
3) FEErEEAK T » ATk
JRHEIX Sy © C1 (A > /3— MEL) = 6 & AT
JEHIX Sy © CII-b (A /38— NEL) = 13f& At
PEIX 4y © CII-L (A /38— NEL) = -
JEHEIX Sy DI-b (f > R—=FHDY) = 5 P
JEHEIX Sy @ DI -b-S (f > "=+ HDY) = L& A
JEHIX Sy © DIlla (f "= FED) = 11 Ay
JEHIXy © DIa-S (f "= FED) = 28 P
XSy« LT (f > _R—FAED) = -
WHIX 7 - - = -
WHIX 7 - - = -
WHIX 7 - - = -
WHIX > - - = -
PEHIX 5y« - - = -

op
=Tl
[\
0
B
!
=



1-4-4. PE/K THAE R

DRk T (10m4 1Y)

A N — N T4 —#
BRERR (S-30)
S 7
o
1 -
|
o
S
53
/2\/ B
=il i
— s
200 400 200
800 EBEERYIFLUE
300 (HFLE - NEFB)
(i) 4 H
V= ( 0.800 + 0.400 ) / 2 X 0.800 X 10.00 = 4.800 m?*/10m

(i) 74 V& —F (S-30) SHEKAE SR

V= 4800 — n X 0.365 > / 4 X 10.000

(ili) @BERY =F L% 0 ¢300 CHILE, N EIE)

L = 10.000 m/10m

365 mm

= 3.754 m®/10m



A= 74 NE—H
BHERE (5-30)

=
g

800

A0

150
250

)

100

600
KT 6300
EEERYIFLUE
(AT - NEER
(i) 4@ HY
V = 0.600 X 0.800 X 10.00 = 4.800 m®/10m
(i) 74 v%—# (S-30) MPEKESE o= 365 mm
V = 4.800 — z X 0.365 2 / 4 X 10.000 = 3.754 m*/10m

(iii) EEBERY =F L% $300 (FILE, NEE)

L = 10.000 m/10m



2) HEMrHEAK T (10m24 1Y)

A N — N
T4 IILE—F
HEERR (S-30)
(o)
~
o™
| 3
0o
,\QQ
[¥e)
o 1=
=
100 250 100
‘ ' BEERVIFLUE
450 P 150 (BALE - REFR)
(i) 4 #l
V= ( 0.450 4+ 0.250 ) / 2 X 0.550 X 10.00 = 1.925 m®/10m
(i) 74— (S-30) MPEKESNE 6= 175 mm
V= 1925 — z X 0.175 2 / 4 X 10.000 =  1.684 m*/10m

(ili) @BERY =F L% 0 ¢ 150 (HILE, N EIE)

L = 10.000 m/10m



A NN— N

T4 ILE—%
/ BERERR (S-30)
/

WU L}C
) 2
ol ~ ©
(]
)
- EQ = -
, vy =
sSsNee L
N\
350 \
HERHEKTA @150
BEER)VIFLUE
(BEAE - NEESR
(i) 4@ HY
V = 0.350 X 0.550 X 10.00 = 1.925 m®/10m
(i) 74 v%—# (S-30) MPEKESNE o= 175 mm
V= 1925 — z X 0.175 2 / 4 X 10.000 =  1.684 m*/10m

(i )Ry =F L& ¢ 1650 (L, NEE)

L = 10.000 m/10m



3) BT (rETHY)

- CI-b Wrim
ERERGD b RILgil
750 7000 750
207 543 3500 3500 543 207
SiLE
100} B0
=1.500% i=1. 500
EEHKI $30x3 /
RIJIZAFILFa—
1EMTHEKIB ¢ 100 L=1150 #ﬁ&ﬁﬁt?kIB @100 L=1150
ERJIFLUE ERJIFLUE
AL - RETR) 527 75 | (“ﬂ” REFE)
FEEHEKTA ¢ 150 L=4050 FEMTHEKTA ¢ 150 L=4050
BEERJIFLUE .—&W
(BA%E - NETFB) (BALE - nETB)
EHEVT Y b FRPEKT 6300
EZ+FE) BEERIIFLUE
(BAE - NEFB
« SEYRE B A AL i -1.500 %, i, = -1.500 %
o Y EI T A (REBRED) A = 4.671 m®  (CADsRFH)
- EERER L = 4.671 / _0.550 =  8.493
(i) 4@ Hl
V = 1.925 X 8.493 / 10.000 = 1.635 m®/»fr
(i) 74 NVZ—8 (S-30)
V = 1.684 X 8.493 / 10.000 = 1.430 m*/»ffF
(i) BBERY =FLUE (FIE ¢ 150)
L = 4.050 + 4.050 = 8.100 m/» AT
(iv) BBERY=F L% (ELLE ¢ 100)
L = 1.150 + 1.150 =  2.300 m/» ff

(v) fe 7> b

N L&/ 2 Fr



*DI-b,DI-b-S Wri

EREPL b RILHD

750 7000 750
207|543 3500 3500 543 | 207
SiL
0 :
15 i=1,500% i=1.500%
BEHKT $20x2 e e A A I/ /*/
KU TRFFa—T e e
MK TB 100 L=1150 iR TB ¢ 100 L=1150
f Ly AR

(m?{,ﬁg WETE)

?ﬁﬁﬂibk_fﬁ f;sgb ;050 \ ﬁ:ﬂ#;ﬁﬂfé 1¢=}-50|/ ;:;050
(BHHLE - NE TR (BHLE - NEFB)
EHEYTY b hREEKT 6300
(BEE+FE) BEBERVIFLUE
(L% - NEFH
« SEYRE B A AL i, = -1.500 %, i, = -1.500 %
o Y EI T A (REBRED) = 4.115 m®  (CADsRFH)
- EERER L = 4.115 / _0.550 = 7.482
FEEE
(i) 4@ Hl
V = 1.925 X 7.482 / 10.000 =  1.440 m?®/» [t
(i) 74 NVZ—8 (S-30)
V = 1.684 X 7.482 / 10.000 = 1.260 m®/» Ff
(ili) MBERY) =F L% (BIHLE ¢ 150)
L = 4.050 + 4.050 = 8.100 m/» Ff
(iv) BMBERY) =F L% (EHLE ¢ 100)
L = 1.150 + 1.150 =  2.300 m/» it

(v) 8tV 7> b

N = L&/ 2 Fr



« DIlla, DITa-S WriA

EERFIL b RILSID

750 7000 750
207 543 3500 3500 543 | 207
s.L
250 350 i=1.500° =1 500%
\J \/
EEHKI $30x3 =
R)IZXFILFa—T —~
HBEFHAKTB §100 L=1200 N BUETHKTE 6100 L=1200
RERn A REAn A
5325 5325

MK TA ¢ 150 L=4050
BEERIIFLUE
(HFLE - NEFR)

HEMHKTA 6150 L=4050
EBERJIFLUE
(BLE - WETH

RV 7y b hREKT $300
BEERUIFLUE
(BALE - RETR)

« SEYRE B A AL i, = -1.500 %, i, = -1.500 %
o Y EI T A (REBRED) = 4.115 m®  (CADsRFH)
- EERER L = 4.115 / _0.550 = 7.482
FEAE
(i) 4@ Hl
V = 1.925 X 7.482 / 10.000 =  1.440 m?®/» [t
(i) 74 NVZ—8 (S-30)
V = 1.684 X 7.482 / 10.000 = 1.260 m®/» Ffr
(ili) MBERY) =F L% (BIHLE ¢ 150)
L = 4.050 + 4.050 = 8.100 m/» AT
(iv) BEBERY =F L% (EILE ¢ 100)
L = 1.200 + 1.200 =  2.400 m/» ff

(v) fe 7> b

N = 1 &/ % pir



4) EmPEAK T
(i) RVZAFNLF2—7 ¢30X3
FEAESS = 20.000 m,~10m (A4 »)

BEES = 2.340 m/ T

HREFSSO

SL

3500

1700

=1, 500%

2340

(i) YaAr bRy 7 A

N = 2.0 » /1H&HT




